BEFEREFRRE —'—‘% I—_h = %EH #ﬁ BB R TR — At — U1 Bl
274118 R i o)

(11A1H~11A30H) http://www.city.kyoto.lg.ip/hokenfukushi/page/0000175159.html

¢ SAMIaAVE

ﬂ?ﬁl‘z27$11H O AR T OVERRYLIE O 7E 5525 720 A Wl B3, PERR 7 IV T RYLEA30.54 (550.08,
40.46) , PEEEAJL AR AL ARRIEN0.46 (350.15, 40.31), ’J\(‘lﬂ_‘/u)%:'//lj <70.23(50.00,
720. 23)1 M(D/u)- CYFENYN0.38 (50.15, 0. 23)&7‘@@&#

TR T O SEAN T B RE OB S 15V FEH Ay 2E D AT Vi E G 7 R BRI RYE O & S Y 7= s
¥}132.82, _= Uit 28 BRI RUYIE1T0. 34, FEA MR o e wE130.04 T4,

[MEREAE)] mmtsreA%13@ERART, BRERS, HER2)
HAE R M-YREHOHER (E/M25E18~)

BRI SIDTRRPAE TEBEANIRR A L RRESAE
1.5

4
E s [ i R m—t e SiE|
=
o
= 2
Y
] 4 |
&
£ )

h25.1 4 7 10 h26.1 4 7 10 h27.1 4 7 10 h251 4 7 10 h26.1 4 7 10 h27.1 4 7 10
REILOO—T

0
=
1=
y
k254
x 0.
%

- h251 4 7 10 h261 4 7 10 h271 4 7 10

ER2TFEOREH
1A | 2R | A | 4R | 5A | 6A | 7R | 8A | 9A | 10A |(11A | 12A | Ri#HsEH

MERISIDTREE 22 22 20 18 23 20 19 20 21 26 7 218
TEEBEANILRR A JL R BEZfE 14 8 6 8 5 10 8 2 5 9 6 81
REaTO—7 4 6 4 2 6 7 4 4 6 1 3 47
LN=EIRES 4 2 5 2 3 7 7 3 2 5 5 45
N 1A OFEBERAIERE-VBRESR
2 _ ORI SICTRLE
202 BERANILRRYAVABRIE ||
= i i oDREIVTOO—T
# oHE BRI
01
*@ Lmain i

0

0% 1~4i% 5~9 % 10~145% 15~195% 20~24fi§ 25~295% 30~347% 35~39h% 40~44i% 45~495% 50~545% 55~59%% 60~644% 65~697% 70RELLE

[EAMMEERRE] geesnm

TER27TEDRE
1A 28 3A 48 58 68 78 8A 9A 108 (118 | 12A8 RETRER

AFY TR BT RO ERE BELE 0 0 0 0 0 0 0 0 0 0 0 0
R Uit 1Rl 2 BRE R SR AE 0 0 0 0 0 0 0 0 0 0 0 0

ZEF it P AR AR R R R 0 0 0 0 0 0 0 0 0 1 0

G, RBMTROERE L AI—TE, FRI9OF4ANL, HRPERBEORRERSO, HIVIRERELRRIC, 188, HE
RRPSE, MRV TIUTREEZEOREBELERLTCLOET ., BESE, #MIOVLTE, REERROFR—LR—J(CEELTVET,
OBRBEERZEDR—LR—IUIITA X -HRESIEICRETHIE] (http://www.city kyoto.lgjp/menu3/category/36-6-2-0-0-0-0-0-0-0.html)
(i O7 —2FBUERE T, REDEILT — 2B T RRD5E8RHVET, )




T3205
WO BRGS0 AR, M - B - AT Ol - B AN

SERR2TAE 114
R E A Pk a R M Ji& 7 A Jii ~2 Jak 5
Yy 25 g NES Y (o, F %= Y7
JiE 7 A~ v @2 JiE 7 v R JiE 1Mt
7 v =4 Y 1N B Y [k3
3 Yt I i v Wk %
v SiEE A ~ K it e it 3
7 7 Lk il £
itk 7 0.54 6 0. 46 3 0.23 5 0. 38 - - - - -
I - - 1 1.00 -1 - 1 1.00
bt - - - - - - - -
FER - - -1 - -1 - 1 1.00
3T 4 2. 00 - - - - - - - - - - -
i - - - - 1 1.00 1 1.00
(L 1 1. 00 - - - - 1 1.00
Tt - - 2 2.00 - - -1 -
£l 1 1. 00 1 1. 00 2 2.00 1 1. 00
A - - 1| 1.00 - - - -
PN 1 0. 50 1 0.50 - - - -
[P - - - - - - - -
WER - ERE T ER, M- B - ATEX (BAEED
M A P a R Wk R g A fifi~ 533
Yo 35 v VES i Ye i, 5 %= e
JiE 7 PN v T iE 7Y By i 1t
7 &V =4 Yy Ky Y 3
3 Y2 | IE v Ik K
v JiE A < BR T Y 1fif i
7 % B JiE: 1 L]
B 1 0. 08 2 0.15 - - 2 0.15 - - - - -
Bl - - - - - - - -
bt - - - - - - - -
I - - - - - - 1 1.00
Pt - - - - - - - - - - - - -
A - - - - - - 1 1.00
LR - - - - - - - -
T - - - - - - - -
ﬁ]‘ — — — — — — — —
Pt - - 1 1.00 - - - -
R 1 0.50 1 0.50 - - - -
D5 - - - - - - - -
AR - AL 2 0 A, b - B - ATHIXH] (R AE)
JEE A P R YM Ji& 7 A Jii ~2 Jak €
Yo Uz VS Y i %= Y
IiE 7 LN v Ej% SiE 7 R JiE 1M
7 &V =4 Y 1N B Y [k3
3 Yu 2 | JiE Vg & ok
D JiE A < B i e it i
7 v T il [t
xR 6 0. 46 4 0.31 3 0.23 3 0.23 - - - - -
It - - 1| 1.00 - - 1] 1.00
/T.J_‘: —_ —_ —_ —_ —_ —_ —_ —_
iy - - - - - - - -
3T 4 2. 00 - - - - - - - - - - -
i - - - - 1 1.00 -1 -
(L 1 1. 00 - - - - 1 1.00
Tt - - 2 2.00 - - -1 -
£l 1 1. 00 1 1. 00 2 2.00 1 1. 00
A - - - - - - - -
[N - - - - - - - -
[P - - - - - - - -

H)RPO—130%2%KT,



T3206
PSR BT VS EG M - R - R
(B W%, TBE : B Wi

274

1A

AR
Bladt &t 07% 1-47% | 5-95% |10-147%
HOEEBHOME

15-197%

20-247%

25-297%

30-347%

35-397%

40-447%

45-497%

50-547%

55-597%

60-647% | 65-697%

T05%—

(RPN 7 - - - -
T REAAE

0.08

0.08

0.15

0.08

0.15

PR~ R
YA L ARG

0. 46 - - - -

0.08

0.08

0.08

0.08

0.08

R 3
aryvn—<

0.23 - - - -

0.08

Y 5 - - - -
0.38 = - = -

AF U Ui
P T Ry
BRI R YLE

_R= U Ui
T Jii % BR T Sk
Y

SEAN MR - - - - -
B R GE

Be

T

+ aat 07% 1-47% | 5-9%% |10-145%

35-397%

50-547%

55-597%

TRy T IV 1 - - - -
T IEYIE

0.08

PR~
YA L ARG
JiE

0.08

~N=2Y i
M 4% BR I 1%

e

SEAN MR - - - - -
B R YL

G &t 073% 1-47% | 5-9%% |10-145%

15-197%

20-247%

25-297%

30-347%

35-397%

MEs 7Y
7 R YLE

0.08

0.08

0.15

0.08

0.08

PERR A~V
%A L R R
JiE

0.08

0.08

0.08

0.08

18
RE 3

aryvr—v

0.08

Wi R i 3
0.23 = - - -

AT i
P T Ry
BRI YL

~_R= U Uil
il 2 BR T I
i

SEAN MR - - - - -
B R YLE






